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F-"‘ £} (vt aat); fa3, |£{b}:£¢3 fd}; {a, b},
Eio- ¢}, ia,d}, {b,c}, fl_b' 43, fe,d}; fa,b,c},
{abd.},{a.cd.j,ibcd.},{a.bcal}

;{a.} S={-%0°F < ﬁ“!so Fi}, 'z ':"Mn-puwim.;'

5(5) {t<32°F}. (c) {3a°r-<'t £ 100°F 3.

* The nadh axt o6 ome subad. TMWNM:'E

:Mwﬂtmwmdt" Ta.".vn;dmwfo &-g

:fm wm +o (z) NI/Z (N‘-—&Jl MM
'w’udbu%a.mlumrﬁ-mlwm;f'w.pm»&-&o‘.:
N+W+¢-kuw2ai'a.+m For aubucls wth
' thur cloments +he vuuw( R~ Lo (3)" .’/3!(,; a)/.
cn*.;m;u, +iu Loy ix 35,;4

N : ] ~N
M N' —

ur"l-ﬂ‘u.a..m ku(;-wa.. MWTM(HQ,;

(4.) S={-l0£0%5/p}. (b) V=§0s4x510}.

(€) §=§{-13s 427}, v=§0s427}.
_'-Azi-:r-s-s ',-f,o,!; ,567}, B:{-!,f,sié'},
ASB b nettrue, BEA G frue. !
(-0) A=fa,3, A=5a,3, Ay=fay}, A,c ia,,az,
Ag=iar, a3}, Ag={2y,23}, Ap:fR, a,, a3} =4,

Ag= .




@(a)ii,a, 5'473} $1<Ic= ,m:"w<9}

5 (b){u;vscv-s,e},@r‘I wligens <9 3.
(c)Rﬁu ’ .F"R/“J 21,2, S, whene R =
10y, Ao J10,5, w/_a 2.5,2}, §R=19/n,
w12, % (d) R =R, n:z1,2, Gi

j -lvu.d.—elm.t ’
whene R= 2.2, M{zz #.% 6.6, :3nor:n),

JR=2.2mn, nz1,2 6}

() 60, (b) oo, (¢) 35,
-a Varm. dm.gmw ‘n.rw-u-u CeAif c=B amd |

B<c A,

il.a-z. () A-B={-6,~%,/.6,8}. (b)B-A=§i,2,4}.

| (c)AUB={-¢,-%,~0.5, 0, 1,1.6,2, +,8%.

!(d)AnE';:{-o 5,0}.

-("")A §-A=ieé, sz, ’2}' (b) A~B= 2} ;
B-A=f6,8]. (C)AUB'-{z, ¥, 6,8, 0}.

(d)AnB=§%,10}. (e)Ana=ie,3}.

(o') % 5 (AUB)-C 5 hoded |
| Z 4
e/
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(b)

(c)

(d)

BnAa Shoded

anenc Shoded

(AUBINC Shaded

ANB#¢
PNC*¢@
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AnNBNC =9 .

(AUB)NC on
c-[(Aanc)u(enc)]

s hoded .
(AUBUC)-(ABNC) or

(Anp)u(Bac)u (CNA)

i:sw.
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(&) AUB= §f-10< A§<—q-3. (b) ANB =

f-7<4<-5}, (c) Th..',e.,;t C=§-9%0<n} .daf-'l:o-j

f2a making ANC o ﬂanﬁ as posaible fe amy
-5 ENS-#, The ot Bnc i Rongrat § C={-9s8<-4}

Cs§-9%4%-4}. The adf|C=f-950<-%} io alar
| e volid astution . (d) ApBAC = {-7<05-5}.

(2-9) (2) To prove AN(BUC) = (AUB)N(AUE)
wonk with the ,e.;i,ud;]‘- Uae (1.2-13) Fo 3.-! |
lan{auc)=AU(BUC). | Nyt wer (i.2-12) 4o :
7 a2

B AC] An(BUC) amd
A (FuB)N(RUE) ohaded.
%

(b) B; u.caw\j (:.z-qs) o—,., Hu. &F Axd, of AnBNC=

]
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|

( Continued)
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Encnp) -
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yu(cnp)
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AN

/

4k cn BN

{a)y AnNB NC



@f"-7 A=§80m2dS/050m} B §950m < LLI1T50m}),
C=§1750m idsaoaam}.: (b) ANG =§954m54.¢.:054,.,}_
| o +he aet of diotamess M%MMJJ ':- |

aincrnaft take o, (€) AUB=§054580m amd 1750m

<4 S 2000m} i He poion '4""""“’““’“9“‘-4%
both ypes of wineroft amd e podion wred by nidkn
- Cragly mangim). (4) AVBUC =§054<80om} is portien
| 4MM@ML?M4MA#M+A%. AuB =
{8omsd<1750m} i Ha pumirey distamees noed by
AAR, =R, UA, £C 4o A NA, =E

ANA NA, = ENA; = c UA; = A VA UA, |
af?fg (1.2-12) amfl J..!‘m C ano |

— " _ . a
AUA, = RNA, = C 4o C = A UA,

AUA UA, = CUA; = CNAy = A, NA, NAg
(2) Falae, (b) taie, (€) falae , (4) foloe

(&) fame , (f) taue , amd (4) folas .

G




.Tﬁbmuni'omA {1,3,5_}_,3 i%,5,6},
- AUB={1,3,4,5,6}, AnB §{5}. Bg a.uwn.aw’

!Wm+h,w&a.bd¢?\4m,}hw
"“‘w’# 2p dunae o-uf-jowww /6. Thue,

‘ﬁfwm osplom 3 : P(A) =%-£—f+-;—+;’-=-'/z, P(B) =Yz,

P(AUB) 5/6 amd P(Anb) /6.

»PMM M%M*/ﬁé .:Jh.!,|
MW"‘M:: (1,6), (2,5), (3,%), (*3)
(5,2) and (6,1). Tm-fwd_uumm css)‘
- omd (6,5). Thue, y.;l\i"o-u.tcnm AMH Ham-f
“Tou 1Y Tl-m,(m P(Arrvnm'?nu)_S/gé:z/q

(o-}S {o-:,a-croo‘ (b) Pf2o<8<£35} =

(35-20)/100 = 15/100. Cc) Pjo=58)=0 aimen

+“umum(t%58wmlgm4_mw

mmbuojmmhwms.

@) (a) P(AUC) = P4, ag, ac, ag} = #/10.

(b) P(BUC.) = P{a'l) 2,, a‘B: a"lf: asl X ., a"’a a’& 4 a'?"g
=P(s)=1. (c)P[A n(suc)l= Pia,, a,} = 3o.
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(Cam"iuwd)

(d) P(AUB) = P{a?, a,, a,!,“ ag,a,}=5/10=1/2.
(¢) P[AU(BAC)] = Pia,,a,} = 2/10 = /5.

AMEWMWM.MW”,
The ambin somple opace . Thewfow {fummm

i3: P(AUR) = P(s) =] = P(A)-r-P(A) or P(R)= IP(A)

.(a-)PrAJ Pfe}=1/6; P(B) P§2,53=2/6=1/3. |

(b) P(A)Y+P(B8)+P(c) =1 & 3mmat|.ul Yy c w0 ypd.upuu,pj
A omd B amd LN prass 'Hu. {rolames 04 +Yhe Mﬂw,nl.-.
A.fu--. Thuo, €= AUB 3, 4%}, ,

l@ P(blach) = 755500, ‘P(gnum)-—-fso/soo, ?(:wl):
175/500, Pluwhite )= 70/500 amd P(blur )= 30/500,

--(a-) P(jock) = ‘f-aubl/sa cands = #/52 = 1/13.
(B) P(5 01 amatlan) = [*f-faam++f¢w+'f+i.mu+ ¥
twes] /52 cando = 16/52 = y-/:z (C) P(ned¥am) =
i[:mogmnf.Hm,;m.mbj/s“m:z/sz.

-(&) F(A wime ) = P(2, v-)+r(; ®) + P(#1) 1 P(¥#, z)
= #/26, (b)Y P(Bwwme)= P(‘J-U-H’(tfl)-rf{f;)
s P(#,4) +P(%,5) +P(%6]) + P(1, %)+ P(%,¥) +f(g#)~é
+ P(5,4) + PL6¥) = n/éis. (c) P(A amd 3,”,;,,):!:
P(Awine )= 4/36 lLetonae A B. ?
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(&) P(,..u.g on ‘I"t“’;”l"" toss ) = P(H,H,T) +P(H,'r,;;).
+P(T, T, H) + P(T,H,T) = #/6. tb) P(oul aftn finat

toss) = Pcn,r,r)-pr('r,*fihf) =2/8. (c) P(re"otd |

wmam'” ) = P(H,ﬁ,ﬁ)+P(?',i', T) = 2/8.

G-D

,n.,\w 2.25] o,80! Lo 5= § atl ngolotero }

10 0.08 | 0.00 | 6.01 | QUL Aalstfru apm 5.

22 0:20 | 0.26 | 0,05 | Fasm table . (2) P (48,9 amd 0.25W)

48 | o2 |05 003 |  Zoun, (b) P48 amk 0.5 w) =
0.%40 | 0.5/ | 0.09] éO-fs', (IP(484Y amd ,,‘,w-:a.aa.'

(&) P(onrin a two amd othinio 3 v mae) = P(2,3) +P(2,9)
+ P(2,5) + P(2,6)+ P(B,z)é +E(¢,z) +P(S,2) + P(6,2) = 8(/36)
2 2/9. (b) P(10% sum am® aum S#) = P(%6) +P(5,5)

+ P(5,6) + Plo¢) + P(s,f) +?P(‘,4) + P(r,1) € P(L,2) +P(1,3)
+ P(2,1) + P(2,2) +P(3,!): = jm/;s :.:/5_ |
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; :{,: + P{7) = P(6,1) +P(5,2)+P(%3)
Lol bin) ) V22d bioed kad kad U8 +;f::::* :(: ;J? +P(1:8)
i ks '7 fon foir dice soch oat coma

it : hoa Ma.uv =1/36 Ao

P{"}"‘/?ﬁ * /e ®0.1667. Q'nfmmm "(‘V‘#‘?J/(G/u)z! 102, (10.22}.

D o o iy o i gun) = 351
(b) P(ateond Lo arvem [ﬁ,oui‘ :Du.wn)— $/51.
(2 P guam N quuam ) = Pcrwnlng P(quarn)

=-§_...‘t | /221,
50 5z / i

F(ﬁumm) P(.‘-o-umﬂ-\umw,wt Hrver awwens)
P({um* Hoae aswoms) = P(w Hhrae avens ) =

Pf'HWul QMIW fmmma) P({;.rui’ -l'm,uma)

|- 'Fi }'5 P(:‘.u'ui’ Furo avens ) 2 ";;'5'-6_ P ascond mmlw

Lo sevren. PowmM =._'!..._=.:_._?_....‘i"_: '
| ) ) 49 5o 5/ 532 270725

23,694 (1576). N

: P(D) = 24 /100 , P(Ej) = 38/100 ,
| P(Dne) = i*+/too, P(_D]E) = {4/38,
- P(E|D) = I¥/2y. i




'@ Dafime. B, = " drownr ln.“ 5% rmeistor ¥ amd B, =
“drrawr a 10 % neister (ia.) From. (1.%-10):
P(D)= P(D]B ) P(B,) + fff’lﬂz) P(8,) -

“B(E)+ 5 28 ) = 2%/100.

oo

(b)) P57 [22.0) = r e 2) = P(b18,) P(5,)/P(o)
! = (m’) 2% = 1ofay,

| oo
!

i (a) P(0.01pF|lep2) = 95/210.

(b) P(o. °l;4Fllmb3) P((mr—B) P(Lex 3 |0,01uF) P(0. ow)

T hwo , P(0.01 uF | bey 3) P (box 3)
P{bex3]|0.01uF) = C‘ PP(GN}LFJ

From +he total M theowre :

P(o.01uF) = P{0.01F| (nr)i 1) P(lrow1)
+P(0.01 uF | ey 2) P(bw 2) +P(o.o:,..F]Lm3}P(lmy3)

i 2§ 5903
‘ ws{ z:o( ) z'+s 3) 3(29)+2(7)
' Thaa | ( )
P(bey 3[0.01uF) = m? = 87¢ .o, .
( [o.0inF) a3 Seog 01474
3(2?)%#—2 (7)

@D rlooupri oo = 22 s Plooipr|oma)= 22,

P(o o:)urlb-yB) , P(o. |,;F]brp.')-_5.:f., ?(o. :}u:,b.yz)_m,
P(o.1uF|bwe 3)= 22 P(f o,srl trm) , P(LORF| boy 2)= B2

ato i

P(I 0}:-"“’01(—3).. “""5' .
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é(:f._*-'r-) From cqpuations in F,

ample 1.4-2 :

P(A,) =

0,95(6.6) +0.05(0.¢) = o.ffﬂl , P(A)=0.05(0c.6) +

= 0,034,

-sz#ad&mm&mwph L.4-2: P(A,) =

: i
0.95(0.%) = 0.41, P(B [A, D)= 0.95(0.6)/0.59 = 0.96¢,
P(B,[|A,)=0.95(o.4)/0.41 = 0.927, P(8 A, )= -
0.05(0.6)/0.41 = 0, 073,| P(B, 1A )=0.05(0.4) /059
.

| 1.0(0.7)+0.0(0,3) = 07,‘}’(3,,) 0.0(0.7) +(.0(6.3) =

503 P(BM)-JO(o‘;)/oF . 0
1.0(0.3)/0.3 =

5Th47nbmwM(nw frae) aimen He

P(B,[A, )=
rP(B,lA,)=o0.

/

1.0, P(B[A) =0,

pulval:d«ﬁu o} am ey ow 4y mirol ;u-a-fli-ow
. Evewt tow | 25 W | Sow | Tolals
. D (Dajaeting)| !5 7 3 2s
G (&ovd) 85 63 27 175
Totals 100 70 30 | 200

(a) P(Dliow) = 15/100. ff:) p(onsow) = P(D|5Sow)

-P(50w) = .___(_.)

P(Dfiow)P(1ow) + P(D IiaSw) p(2sw) + P(D|50wW) P(S‘OW?

15

!

0(_3'-).‘. -

70

I3

1/30. (c¢) P(D)
| I

(-;-) +%(-§) = 0.35/3 2= 0.1167.




(418) (@) P(fasnch)= P(A foito n B foils)
= P(Bf.u'b [A FLL) P(A foite) =0.06(0.01)
= 0.0006.
(BJP(RMHM)—?(npﬂansw)/r(ow)a
RS VEIC )-o o0Z.
(C) P(A faulo) F(B foile) = oo:(oaa)-a(m )ae 6168 = |
P(Agmbn Bd-oub) fula and

B, mis) A,

- p(B)=0-5 _ 2.1
(a) P(“zlb:)
0.1 - .1 .
P(A, Ib,) " NP(A,4B,) |
B . I(A‘IB)
P(B=)Z=O- . 5.1 — 2 r 2
(1B} - _dr(a,l8,)
: ’ a.1
- P{ﬁzlﬁa)

P(yi=0.2 0.8

Cb) PCA,) = P(A,18,)P(B,) + P(A,18,3P(B,) + PO3, 18,3 P(B3)
= 0.8(0.5) +0.1(0.3) -:-a.!_(‘ia.zl = 0.%5 , FP(A,) =
0.1(0.5) +¢.9(0.3) + 0.1 i(t;.=lr-) = 9.31, P(A3) = 0.i(05)
+0.1{(C.3)+ 0.8(0.2) =fo.:24-, {c) |
(c) P(B,IA,)= 0.8(0.5)/0.45 = 0,8389 Ba.?.u' natle, .
P(BIA,)=0.1(0.5)/0.31 = 0.1613
P(s,ms) £0.1(0.5)Y/0.2n = 0.2083
I



* (Contivued )

P(B.)8,)=0.1(0.3)/0.45

00,0667

0, 7742

L

P(B,1A,)=0.8(0.3)/o. fa:
P(BlAy) = o,nca,a)/?.ﬁ4 = e.1250
o P(BalA,)=0.1(02)/0. 45 = 0.044%4%
P(By ALY = 0.1 (o-a)/o.‘;r.;' = 0.66 %5
P(B5]A3) <0.8(0.2)/0.2% < 0. 6667
(4) Whow P(B)=1/3, ist,2,3, Hom PCAD= Y5[

Fm:”:’*”"‘:”’a)*?(5;133!):' = -3"-[-0-3 #0.14+0.17 < 1/3,

Somdanty P(Az)s P(A3YE PUA,Y = /3 andl aloo
P(B;1AR) = 0.1, k35, amk P(B:lA;)=0.8, 5=
1,2, 3. L

[ oo b L | Py =085, Peay=o.55
il | Ly Y
Al 102 e6.02 o.o;l
Ayl 1ot | 6.06 | 0.08
Azl too | 0,98 | 0.93
Ayl 99 [ 003 | .04
Ay | 98 {o0.01] 002 _
Ay P(1o3Y = P62 G P (L) + PUOZ (L) P4y )= 0.02 (0.45)+0.03(0.55)
= 0.0255. Similenty, Plory = 0.07l0, P(lo0)=0,8525, P(99)

= 0.0355, amd P(98) = a,g;;}, (b)) P(L,l100)= P(ioo |L,) P(L.) -
P(io00)

?(tozlL,) s g.02, Plioa]Ly ) = 0.03

P(mfl,) -.: 0.06, ?liotje) = s.0%
P(tos] L,J = 0.8, PlisofLa ) 0.43
P(?ﬂt:.,) = .63, P(99/Ly)= 2.0
P(TSIL;J{o.u, P{98[t2)=0.02
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@D (Continuad) 288049 o 0,465, () Plpitty <190) =

P(3I8)+ F(%99) = 0.0355 +0.0155 = 0.0510.

_
D;{-&u&: Them :

A-_-{Icﬂamamm A} ?(D!AJ'- 0.00], P(A)=: 1/
B = }IC from sownce 3} IP(PIB)- 0.003, P( =/3
¢ = §I¢ from Asuneec}  p(Dfc) = 6002, P(c) V3

D = § dufuctiie Ic}

(&) P(p) = P(DIA}P(A) + P(DIB)P(.B) + P(p[c) P(¢C) = (0.001/3) +

- (0.003/3) + (0.002/3) = o.oaf/g = 0.002. (b) Plalp) =
P(DIA)YP(AY/ P(D) = o.ao:('fa)/:o,ooz = t/6. SM:
P(BIDY = V2, P(c(®)=Y3:

'W-) P(A [P, )P(D,) +P(AID;)P(3;) +P(A|DP3)P(Dy) = ._ 1)

+ (,)M(‘)-.-.g.-uams b P(s)- F(?fP)P(P,)-f-P(?I%)P(Pz)

+P(3.ID3}P(93)-.._( )+ ( )+ (‘) 2 0.0570. (€) Similor-

1‘3 P(ned cond ) =33- (,)-f- = 0.50,

L
2
P(AnB)=28/100 = o?.z.;s #F P(R)P(B) = (¥#%/100)

-(62/100) = 0.273 v A M B ara wol indsgendsnt, |
- Planc)=0.0 while P(B)P%(c):,l:a A A omd C axz
ot WW P(smb: 0.2% # P(8)FP(c) =
- (62/100)(32/100) = 0.198 40 Bamd C aw wof

le



@5-1) (Continusd)

indapendirt, F.M.uyj P(ANBNC) = 0.0 # P(A)
-P(BYP(c) ar A, B, .w-i ¢ arne wmwﬁ,
mAanc.J.uJ') Auean, L“J f“"-""'

.P(R 18,02 P8IP(,), | PA,NA)=P(A)P(AS),
P(A,N A= P(A ) P(A % r(nann_.,.):P(AaJr(nsJ,
P(n,nA,) = P(n,_JP(A,,) P(AynA, )= P(A )P (A,),

P(A NANAL)=P(A)IP(A,)P(AZ), P(ANA,NA,)=P(A, JP(ﬂz)P(H,),

P(A NA,NA)=P(A)P(AIP(A,), P(n NRAJNA)=F(A)IP(A )P(ﬂ,,)_,

and P(ANA NALNA,): P(R)P(A)P(ALIP(A,).

*(rs 3.) &> Finat fovm Hhe rm&-d PLAIP(A,) = P(A, J[:—P(MJ

= P(A) =~ P(A)P(A) . Sm A, Mﬁzwwiw
"Hh'-o Srtcovmee
' P(AYP(A, )= P(R))-P(A,NAL). (1)
A Veram Aua-awm Ahow-l +hat ﬁ,=(A,ﬂ5,_)U(H,nA2);
ac P(AD=P[(A,NA )u(n nAz)]. Framm (L% -2):
Pl(a,0A,)u(A NA,)])= Pfﬂ,nﬁlz)-l-?(ﬂ,nﬂz)
-P[(ANAIN(A,NA] . | Mowesen | o Veun Ao~
P ram w;w ,akno—-M (A, NAN (A, NAY=D eo
: P(A) = P(ﬂnA)-P?(AnA) - (2
By can!:w.wj () amd cz)! we have P(A)PA,) = |
PARA) sr A avd Ay ara staliolecally indap-

17




*({5-3) (Cmtinusd)
: 2mdand frem (1.5-3). | i
(b) The puesdure io the A.lwm.!.. g v (a): E(ﬁ,)P(ﬂz)=
CPOADL-P(AN] = F(A) =P(ANAL). But A= (A, NA)U
(A nA,) omd (A,NA, )n(ﬁ,,nn,):g s P(A,)=
! PL(A,nA)u(A,nA,)]= P(Aanzj-fl’{ﬂ NnA,) -
PL¢h nﬁ)n(nznﬁ! )3 = P(ﬂ nA, )+ PLALNA,). le--,

P(A,)P(A)= P('q;nﬁ )

AD Aaw-cllA ww.lafww
(e) a.gm }u.r_ca:‘f'h P)wc.u!um o:rf(ﬂ) and (b):

P(A,)P(A)=]i- P(ﬂ,)J[!iﬁ(ﬂz)]_l P(A,) -P(A;)

+P(A, )P?A! ) = 1~P(A)~P(A) +P(A, nA,5
= (-[PLA}+PLA) - P(A, an' J= i~-P(A,vA) fwm
(1.#=2). Bul simee [ -Pi(A,0A,) = P(A,UA, ), How
' P(A,)P(AL)= P(A,UAL). Neweon a Vaown dia-

g;m_oi\.owo#uif‘ 5'_(-)“5;'—'-5,0 2 4D
PLAP(A,) = r(ﬁ’ A

)
whw‘v //W'Mfa’f;"B)ao ' A, awd A, 44 be



@59 (Continued)

Totat s s = T () = =(2)- (1) + L (%)

=0

Ure (€-€1). Totat = -I—J_\i-f-‘f(’:): 2¥-wm-1.
: [ .

R Rz
. --{Mlajﬁ’ oo, iz, ,a«t} {aq;m}
& CRJ“ P 3 0.008 , ¢=52
R3 B 1’1"‘“‘3; E=3 ¢

?(-ugnaﬂ d.oce not axncie ) = P31 (R oo R, epome) amd (Ry LR, opums)}
= P§{{(R,UR )ncR,us,,)} = P(R,URLIP(R3URY) (melsgondont
ﬂ-cl.w) = [P(R)+P(Ry) - P[R ng,)][_r(u,} +P(Ry )~ P(Rgng,;]

= (24,~ ' 32y ‘fz ) = [o.or_-zs (1e®)1[0.016 - 64¢10°¢) = 0.0001¢.

--ﬂ{—»?—tad—&m——u of-annive P = P{(u"u. pet h-faids) -amd (Lower .
path foilo) } = Ff(%fﬂ*‘lﬁb)!ﬂ ( Loranta, path M)} |
= P(WPMM)PCMM;M)' But P(Wf-*hfu’b)
= POR) +P(RaOR3) ~ PR, AR NRy) = p +p7 -f, 27 = 5.0995 (153) amd
P(ron poths foil ) = £, f?z ~1, f: = 12.%75(10 ). Thuo,

- f’f.-ot‘aml doeo nef wwe} : 5.09?5:(10‘6"')12 $75(10’) = 63.6163 (f"-‘)
_J"'t i) €2,C5,¢Cy M €5 nepracat fhe sz-g
Glito gmdd Lot m,, m, wm ;;'M My rapriasnd He
meils, Thew 5 = {c”c, C3,€,,Cs}  omd
_5-{1,., ™, m me},lTthJMnufbl,_
apara, m.w..; |
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@61 (Continued)

5 =5,x3,={(c,m), (¢,Mm)] (e,m3), (C,,my),

! (¢,m,), (cz;"’;b (€,M3), (¢, '_'_’f'e')a
! €m,), (€5,M), (S5, M), (c,,m,),
(chm,)} (Cwmii’-' “9:'”3) (c,,mM,),

(e ,m,), (cg, "”zi: (¢s,73), (C5,m ) § -

@ 5f?

. )
a AXB S| A=zfio<x<i5}
a0 |--14 i B=j2o0<ys50}
o L_Li. :
O i is 190 X
(b)  sol% _ '
yol-—--—q--- S A=§'x=er-a}
"0 q:a | 1o 2

- S‘W = 6(8)6(6) = 55" = 1296.
Nuwwnban 4 ipob-n.- homeo = (552)_52(5i}5'4(+9),.¢.‘

5(#)3(a)
=2,598,960.

-TM&:&BMMM n*rmvd urth Al o
f F(¢¢Mwod4+0€m¢\w)=003

1
(@) P (¢4 oudk of tolixamen) = ("")(o 03)" (1 -0.03) 2 8.1 (16 ’fl.
(b) P(2 suitof ntum) = (¥)0.03)°(1 -0.03)°
| ..5._‘. (9):6 7 (o. '1"7)1‘,;j 5. 08! (102,
(c) P(aum-fcfuum)- P(ww Moj +olinames )
= () c0.03) - aa3) _.(o a7)¥x 0.8853.
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(w) P(nena ow 9""‘) (‘) (o,és)acr-o.s)‘ = (q_,z)‘: ;,4(;5‘5,
(b) Plat freat omt i gm)— I= PO on gem) =
| I- 6.4(0%) = 0. 977|935
(¢) P(auccsss Y= P(3im 7“:.|)+P(¥m ?m)-r?(5,.. Fone)
| *ffémg;hu-) (3)(0 sf(o 2J+(¢)(a 8)’(0.2)"

| +(&)t0.2) (a 2) + (‘)(o !) (0.2) = 0.983. |

-Fn N=2 : F{cm‘;ﬁw\k} 1’22%}-()(0'#)
{J-alf) = 0.16,. Foo N #— Pfcm W}
?{2M}+P§3k~l—.}+?§4h&.} )(ﬂ'f-) (0.6)°

| ("‘)(09'-) (06) +( )(01‘-) (0. 6) = 0.5248.

'. P(rale k of ¥ i’&.«m)E S (:) o,qn" (o.s)"'*, N=§,

5 () P{fole 3 1 mee Frvmso ow one et ) = (;)am’(a.e):;

C+(5) o0 4 (£) 04" s 03308 vo, om0 40, 0102% =

o.317wd, (b)) P(ndl Lats a.:l'au) [ )av(os) = 0.07776.

(a-) P(otale) = (f)(o.?) (a.-r) = 0.1680%, (b)) Plart
st} = () 0.5 (o = 0.002#3. () P(3 & mone
tome ) = P(otale ) + P12t} + P(2 Sata ) = 0. 16807

+(f)a.3(o.v)" +(f)o.31(o.7)3 = 0.83692.
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P(d!.m'f'm)- P(Ol-tl.) (5)7(1 -%) -(l 1) |

= 0.9, Thuo, x:P(a hkf w fots ) = 1-—01/ = 0,020852.
(d.u to rdiree_0.3_+o_ 0, 02_08_5_2._’__ e

(4-) Plwon )= Plzheado) = (3) 0.7 (037 = 0.13230. No!
(b Plwrin ) = P(# heado) + P(5 hasdo) = (5 ) 0.7"(0.3)"

+(3)09°03)° = 0.3¢015 +0.16800 = 0,52822. Ypo!
(a) Pluin act) = P(5 Ko im 6) + P(Ghit in 6)
| = (:5) (4"8)5(‘9.:'.)l + (2)(0-8 )‘{a..t)o = 0.393216 +
0.2621I44 o 0.65536¢. (b)) Secend FPunmeulic fnial
.Pmtv&-m_. P(Bacts of 3) = (3) (9,65534)3(;-0.55534)0

= 0.28147,
F(mzfd avuaed ) = Pf_pugm A URARASES amdl V\am:gaiﬁw
Asrtom aunnrives } = Pismgine sunoineo} P Nasqolion suptom aunsomn)
= [t- P(hﬂfu& iaib)][f- P(hmhgaﬁvn zty‘fm fcn-Qo)J = 0.95 (0.999)

= 0 (T30 5.

{a) P(alt af.-u.ta) P(ojo.uj: ....‘_'_._.(o a‘} (0. q-c,c) -

y , = 0.6899.
0-(6-0J. "

(b) Pl i ) = P(6 jm-!} -6'(6. (0.06)°(0.9%3° * = qceecr®).

(<) P4 foilo) = (6.06)' (o. w-J‘ "= 6.2642.

t'(é r)'
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(@) P(2 v mere m‘f‘m.fwuﬂ) l—P(amf/ufM)-F(l

net M—fm& --9—-— (o-1) (01}8 -8t fa.nfca.ﬂx-l
ol (g-0)! 11¢8-0! '

~ | - 0.4305 -0.3826 = o.:su_. (b) P8 propaty /ufw.j ) =
P (o net u-rmﬁ) 0.%305 .

kso - .
e 4 o _~.5%

: _5(N:-p) _2.8%7%
Plo JA.I to netunm h.ug) = TSI Y 0.0821,

P(l«ﬂodo'io Mium h‘#] 2.5 cq;‘ = 0.2052.

P(zfo.d 'f'om.:!'wmk.l.r) 2.5% C _ 5.-.- 0.2565%,
-8
_ _ __?.5' & —
P(BwhumW} —_—__.-3‘. =0.2138.

P(ho mowe thaw 3 foid do n.dww. k-#.o) 0.082( + 0.20§2 + 0.25¢S

+ o.21%8 = 0.7576.
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